3’ 20 GA STRUT
ATTACHED ABOVE THE HINGES
W/ (2> 174" X 3/4° HEX HEAD

(2> 3’ 20 GA STRUTS ON TOP
SECTION ATTACHED W/ <2) 174 X
374’ HEX HEAD SCREWS AT EACH

. SCREWS EACH END STILE, EACH
ADJUSTABLE SLIDE BRACKET 3’ 20 GA STRUT ATTACHED V/ RN e o D Tk, EacH END STILE, CENTER STILE, AND
@ 1/74° X 3/4° HEX HEAD \ 14GA. (MIN) CENTER BETWEEN EACH CENTER STILE
ATTACHED W/ (2) 1/4° X 1/2* SCREWS AT EACH END STILE, EACH CENTER STILE HINGE ATTACHED :
CARRIAGE BOLTS AND NUTS CENTER STILE, AND HALFWAY W/ A TOTAL OF TYPICSAEIE TTlln]: :
BETWEEN EACH CENTER STILE (5) 1747 x 3/4°
12 GA, (MIN.) GALV. COMMERCIAL
LOCATION HEX HEAD SCREWS EXTERIOR SKIN TOP ROLLER BRACKET ATTACHED
3’ 20 GA STRUT ATTACHED WITH <3 174 x 3/4" HEX HEAD
W/ (2 1/4* X 3/4° HEX HEAD 27 GA MIN g UNIV. SCREWS PER BRACKET
12 GA MIN> GALY SCREWS AT EACH END, CENTER ADJUSTABLE SLIDE BRACKET IS
. (MIN, 3 ) ASSEMBLED WITH (@ 1/4° x 1/2°
< 3° 20 GA STRUT ON
BRANVERCIAL TOP ROLLER 2-10 BALL STEEL ROLLERS CENTER STILE EVERY INTERMEDIATE BOLT & NUT PER BRACKET
174° x 3/4° HEX HEAD SCREWS o @ o 4.5 STEM ROLLERS (MINY SECTION ABOVE THE HINGES
W/RETAINERS FOR NON-THREADED SHAFTS ATTACHED W/ (@) 1/4" X 3/4°

HEX HEAD SCREWS EACH END

STILE, EACH CENTER STILE, W 3* 20 GA STRUT ON EACH

INTERMEDIATE SECTION ON HINGES

TYPICAL TOP FIXTURES 1
N.T.S.

AND BETWEEN EACH CENTER ax M M
TYPICAL CENTER HINGE STILE J ATTACHED W/ (2) 1/74° X 3/4
2 STRUT CLIP HEX HEAD SCREWS EACH END
N.TS. 5 STILE, EACH CENTER STILE, AND
TYPICAL & BETWEEN EACH CENTER STILE
14 GA. (MIND Y
37 20 GA STRUT ATTACHED W/ @ END HINGE ROLLER INTERMEDIATE
1/74* X 3/4° HEX HEAD SCREWS AT CARRIERS ATTACHED SECTION

217 MAX s T EACH END STILE, CENTER STILE ) .

SECTION // // // AND HALFWAY BETWEEN EACH Xs/x (EEAID’ 435353/34 INTERIOR SKIN 27 GA
/ CENTER STILE

HEIGHT a L

3-3/4" X 20 GA BACKER PLATE
BEHIND BACK SKIN C(HORIZONTALLY)>
AT TOP AND BOTTOM OF EACH
SECTION AT HINGE LOCATIONS AND
1-3/4* X 20 GA BACKER PLATE
BEHIND BACK SKIN (VERTICALLY)
AT ENDSTILE

B e A

GLAZED SECTION CENTER HINGE@ '
N.T.S.
TONGUE & GRODVE

SECTION JOINT
STRUT CLIP

S

TYPICAL BOTTOM
SECTION ~~|

(@ 3’ 20 GA STRUTS ON

BOTTOM SECTION

ATTACHED W/ (2) 1/4° X 3/4* HEX
HEAD SCREWS AT EACH END STILE,
CENTER STILE, AND HALF WAY
BETWEEN EACH CENTER STILE

A

SRR,

14 GA. (MIN)
END HINGE ROLLER ;
CARRIERS ATTACHED

W/ (55 174 x 3/4° POLYURETHANE

HEX HEAD SCREWS INSULATION CORE

3’ 20 GA STRUT ATTACHED W/ (2
174* X 3/4’ HEX HEAD SCREWS AT

EACH END STILE, CENTER STILE,
AND HALFWAY BETWEEN EACH
CENTER STILE

BOTTOM BRACKET

2'-10 BALL STEEL ROLLERS 13 GA. (MIN)

4.5° STEM ROLLERS ¢MIN>
W/RETAINERS FOR
NON-THREADED SHAFTS

SECTION A—A (SIDE VIEW)
- N.T.S.
e, GLAZED SECTION END HINGE@
} = N.T.S.

_ 517 | e | 45 [ A ™~
I : ' o REV | DESCRIPTION OF REVISIONS DATE BY
16’0 MAX
INSIDE ELEVATION °
NTS. MAX SIZE | _= 2
14 GA. (MIN) 16" x 14 §§ _.-.\\\\\\\ N
END HINGE ROLLER g =T e OF TN 0
- DESIGN LOADS| 83 R £ e
3 20 GA STRUT ATTACHED W/ CARRIERS ATTACHED i . 3
@ 1/4" X 3/4" HEX HEAD 13 GA, BOTTOM BRACKET W/ (5 174" x 3/4 B ey STRUT ON EACH ep | +25.6 PSF S ;’é\?’-' '-'-'.,46,') g
e e B s S UM | e B A S
BETWEEN EACH CENTER STILE HEX HEAD SCREWS SCREWS AT EACH END STILE, Ox  Lx L 3 g
CENTER STILE, AND HALFWAY X g
LOCATION @ ON BASE AND BETWEEN EACH CENTER STILE TEST LOADS | 0% 4 &
2 ON ROLLER FLANGE) (15 oesk Lows)| 5 4 =
. 2°-10 BALL STEEL ROLLERS a4 por | B g
13 GA BUTTOM BRACKET BASE 4 ST RETAINERS FDR ~436 PSF | £2 5
. g 2°-10 BALL STEEL ROLLERS : 55
HEX HEAD SCREWS B R s NON-THREADED SHAFTS 23 f
W/RETAINERS FOR a2 R By £
NON-THREADED SHAFTS 85 \\\/ONA\- 2
TRBB-375 BOTTOM BRACKET 6A TYPICAL END HINGE S g ASCUC g U
N.T.S. 5 F& TX 5
TRBB-375 BOTTOM BRACKET 6B N.T.S. a
N.T.S.
20 GA. GALV. STEEL END STILE JAMB SEAL “No. 1/No.2 SPF or
ATTACHED TO DOORS SKIN WITH OPTIONAL No2 SYP 2x6 JAMB > 5/16° x 1 5/8° ] '
(@ #8 X 1/2° SCREWS PER STILE LAG SCREG PER THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE a
. . JAMB BRACKET WITH THE PROCEDURES DESCRIBED IN DASMA 108. THE -
A\ & ] / 210 BALL STEEL ROLLERS PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED ENTREMATIC
71 £ S s v (5 P GF 000K Mo END TN, ROOF AT AN SL0me MODEL €500 (CLAMSHELL)
SR LT D BRACKET NON-THREADED SHAFTS E\ND =1.0): ' ' N R%M%%glgﬁggchngfcoEO,3200
INTERMEDIATE Z MA
HINGES 14GA (MIN.
(M) ;/)'(rl\iDOSSUPREEEDLE(yEIT_H) 1830 1(1:8 1(; 2 |1 87 L 83 SZE| DRAWNBY  RWR| DATE 8/3/17 DRAWING NUMBER
2" GALV. STEEL TRACK B IRC-C516~130~15
] y 3 y ; ; CHECKED BY RIR| DATE 8/3/17
THICKNESS .0517(MIN.) TRACK MOUNTING DETAIL MEAN. ROOF HEIGHT | 30 15 25 | 15| 25 ENTREMATIC A k
N.T.S. 165 CARRIAGE COURT WINSTON-SALEM, N.C, 27105 SHEET 1 OF 3




- SPECIFICATIONS AND NOTES
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE
VERTICAL TRACK, FROM THE TRACK THE LOAD IS TRANSFERRED TO THE
VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER RECEIVES NO
PORTION OF THE LOAD TRANSFERRED FROM THE DOOR.
2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+204.8 LBS/FT- & —232.8 LBS/FT
3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
4. DOOR SECTIONS SHALL BE 27 GA. (.015) MIN. EXTERIOR AND INTERIOR
SKIN, ROLLED FORMED, W/ BAKED ON POLYESTER FINISH
5. DOORS UP TO 14'0" USE (2) 3" STRUTS PER SECTION.
6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

14 GA, (MIN> FLAG BRACKET
ATTACHED TO wOOD JAMB

W/(3) 5/16 DIA, X 1-5/8 LAG BOLTS
AND TO TRACK W/<4) 1/4'-20 x 5/8*
TRACK SPLICE BOLTS AND NUTS

s

Apeeey

"\‘-

) v L

© 060006006 3

14 GA. SPLICE BRACKET ATTACHED
TO wOOD JAMB W/ (1) 5/16 DIA. X
-5/8" LAG BOLT AND TO TRACK- W/

L ATITTILLIIAT S LTI L TR ALA © AR LT R A

; (4> 1/4°-20 x 5/8° TRACK SPLICE
El:[ BOLTS AND NUTS ’I INTERIOR OF GARAGE
. 1) 5/16° DIA, x 1-5/8° s
LAG BDLT ATTACHED TO JAMB A ] MAX. WIDTH 160 -
AT EA. JAMB BRACKET B

A Y

A

i
mmry I

12 GA. GALV. STEEL

JAMB BRACKETS . ’ PLICE TRACKS W/
ATTACHED W/C1 1/4°-20 x 5/8° g {620 TRACK SPLICE pesiN oaps [ f [ P I H T It T]
TRACK SPLICE BOLT & NUT H H +204.8 LBS/F SEE NOTE 2
L 2° (051 MIN) OR —232.8 LBS/FT
3 12 GA. MIN) VERTICAL TRACK
TRACK ATTACHMENT CAN BE BRACKET ':E
D-F MDU:T. CI:IN'I;INUDUS,RREV%RSE ANGLE & e 3
- MOUNT, CSEE AVAILABLE TRACK 2 |5 5 g e e ME OPTIONAL Decra INSERTS
c CONFIGURATIONS ON THIS PAGE> x |3 E £ § WITH UV PROTECTION
[ ] A v »
ALL TRACK BRACKETS AND TRACK a |B & z g MIN. 3/32" THICK SSB
CLIPS ARE ATTACHED TO TRACK ¥ ¥ GLASS
B WITH (2 RIVETS OR <1 1/4’-20
~A BOLT & NUT m, A
ALL TRACK BRACKETS OR TRACK
CLIPS ARE TO FOLLOW SPACING AS d d //
INDICATED | \‘(310) #8 X 3/4"
—E —— AN HEAD SCREWS
AVAILABLE TRACK CONFIGURATIONS AT EACH WINDOW FRAME MOLDED INSIDE FRAME
TRACK CONFIGURATION FOR UP TO 14’ TALL DOORS NTS.
SEE TABLE 1 TABLE 2 SECTION B-B RESIDENTIAL LONG PANEL WINDOW DETAIL
N.T.S.
38-1/8*
REV | DESCRIPTION OF REVISIONS DAE  [BY
2* 3> 2¢ 3 2 *3
.3 2‘
10-5 /g MAX SIZE | __ 2
16" x 14 §§ -‘\\\\\\‘ 5
2 , s, DESIGN LOADS| 238 -~ g TE W Q
+25.6 PSF | =4 ;-«v‘ .‘_"4 h g
3 2 3, 2 3 2 -29.1 PSF | S 2 9~ 8N 3
Ef_ ’, * .." N * ' e
. o
NT.S. (1.5 x DESIGN LOADS) %& ; . %Egi) 3
+38.4 PSF [<3 , fevevesssaasavsoen é
~436 PSF | ES ,9;)-.. 8582 s
3
5 NOloR & ¢
. 8% 1\ SIONALE‘_‘ = =
&% Aiaas U]
I £ o —
7] 3 ) (= TX g
[Ta)
3 3
10-5/8* : ?4@/"]'
2 2, —
L GL N
I:Ihli{& A y4 ECTION W/ RESIDENTIAL SHORT PANEL WINDOWS AND STRUT LAYOUT 3 2 ; CNTRCMATIC
e : MODEL €500 (CLAMSHELL)
SHORT PANEL GLAZING FASTENER DETAIL AMARR OLYMPUS 3200,
NTS.
AMARR DESIGNERS CHOICE 3200
SZE| DRAW BY  RIR| DATE 8/3/17 DRAWNG NUMBER
B| checxmBY RR| DAE 8/3/17 [RC-C516-130-15
ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET2 OF 3




TABLE 1

DOOR TRACK ATTACHMENT SPLICE
HE IGHT S

I 1 i
& [olar[arley] | | | | 8

|10 10orj a1t ]42" (63| 84" 105" | | 112"

-m-

AL TRAGK ATTAGRVENTS +7— 2 ALLOWED WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

SYP OR SPF NO.2 OR BETTER ONLY

. 2 X _6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS
TABLE 2 . _ : THEN 24" 0.C. (1 1/2” EMBEDMENT)
Section Center Stile Locations (Measured | Max Design Loads 2 X_6 VERTICAL JAMB ATTACHMENT TO 2,000 PS| CONCRETE
Panel Typ from Left Edge) Allowed HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS
: anel Type - — — THEN 24" 0.C. (2 1/2" EMBEDMENT)
Width Ist | 2st 3rd 4th Positive | Negitive HILTI SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6" FROM ENDS
() (in) (in) (in) (in) (PSF) (PSF) THEN 20" 0.C. (1 1/4" EMBEDMENT)
0 _ ITW/RAMSET REDHEAD (TRU-BOLT) 3/8” X 4" STARTING 6" FROM ENDS
13710 Short [ 57.16] 82.94 | 10871 295 334 T e o /2 EvBEoENT
14'0 Short | 57.76 | 83.94 | 110.11 29.1 33.0 2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—90 BLOCK
' SIMPSON 1/4" X 3" TITEN SCREWS STARTING 6" FROM ENDS,
1472 | Short | 56.85| 84.94 | 111.41 28.8 326 SMPSON 1/ X 3 EN ScRewS ¢ Y " -
14' 4 Short 59.16 | 85.94 | 112.71 28.4 32.2 )
: : : : : AT 16" 0.C. (1 1/2" EMBEDMENT)
14' 6 Short 59.86 | 86.94 | 114.01 28.1 31.9 HILTI 1/4" X 2-3/4" KWIK—-CON Il+ SCREWS STARTING 6" FROM ENDS,
14' 8 Short 60.56 87.94 115 31 27.8 315 USE PAIRS OF FASTENERS (3" APART) AT 16" 0.C. (1 1/4" EMBEDMENT) MAX SIZE — =1
» : 2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT) 16" x 147 |5 g O N
HILTI SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6" FROM ENDS DESIGN LOADS|ZE SSKEOFTE N, S
THEN 24” 0.C. (1 1/4" EMBEDMENT) +25.6 PSF |52 A AL 4. s
(OR, USE FASTENERS FOR HOLLOW C—90 BLOCK) -9 Pk (5E Foar & o3
*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. - Sy Y §
*PREPARATION OF WOOD JAMBS BY OTHERS , TEST LOADS |5E  Zere sty igsesssssmmnr?tec, &
. (1.5 x DESIGN LoADS) | £ ; AS L. SHELMERDI NE y <
+38.4 PSF g‘é ,.. A <>[
= SRUCTURE STRUCTURE —43.6 PSF |5 (7 7)'._' 85829 %@* >
g g . &2 oo Licpne®i&Y S B
S a2 ‘ \ps'g' --------- \\ Q_, b
2 85 WO/ONALE = :
& u<| <] ‘ 5% ANy o
= 5
X6 JAMB : TX a
1/a MIN ™P. a 3/4° MIN
Awmary
ENTREMATIC
>< MODEL C500 (CLAMSHELL)
T AMARR OLYMPUS 3200,
v I———J AMARR DESIGNERS CHOICE 3200
3 MIN SIZE| DRAWNBY  RIR| DATE 8/3/17 DRAWNG NUMBER
B| cEckeDBY RIR| DATE 8/3/17 IRC-C516-130-15
165 CARRIAGE CDE;‘JRS?P?S?OCH-SALEM, N.C._27105 SHEET 3 OF 3




